Name: Mental Arithmetic: 20 mins (Time taken: __ ) Score: __ out of 27
760 - 100 = £3,500 + £120 = £8.30 + £2.50 =

£6.18 + £1.50= 1,903m + 100m = 77 +7=

620ml - 220ml = 610+ 26= 6x8=

350 - 80= 7,280km — 150km = 16 x4 =

£72 +9= £12.00 + £1.50= 19x3=




740mm + 270mm = 4x6= 820L-92L =

730-31= 16x2= 3x11=
£8,260 + £176 = 253 + 8120 = 656 - 169 =
39p+3= 800 - 40= £692 - £20 =

If you managed to complete this in less than 15 minutes, why don’t you try one of the challenges on the
following website. Bring it in on a piece of paper and show us what you managed to do. Good luck!

https://nrich.maths.org/8495




